
8188 8188.5 8189 8189.5 8190
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

3.5

4

4.5

5

5.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

7157

7157.5

7158

7158.5

7159

7159.5

7160

7160.5

7161

ru
n

run:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7159}



8188 8188.5 8189 8189.5 8190
cyclenum

100−

99.5−

99−

98.5−

98−

us
l_

1X
usl_1X:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

39.6

39.8

40

40.2

40.4

40.6

40.8

41

41.2

41.4

41.6

41.8

us
l_

4e
X

usl_4eX:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

19.4

19.6

19.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

38−

37.5−

37−

36.5−

36−

us
l_

12
X

usl_12X:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

7157

7157.5

7158

7158.5

7159

7159.5

7160

7160.5

7161

ru
n

run:cyclenum {run == 7159}



8188 8188.5 8189 8189.5 8190
cyclenum

137.5−

137−

136.5−

136−

135.5−us
r_

1X

usr_1X:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

1

1.5

2

2.5

3

us
r_

4a
Y

usr_4aY:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

198.6

198.8

199

199.2

199.4

199.6

199.8

200

200.2

200.4

200.6

200.8

us
r_

4e
X

usr_4eX:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

14

14.2

14.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

39−

38.5−

38−

37.5−

37−us
r_

12
X

usr_12X:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

7157

7157.5

7158

7158.5

7159

7159.5

7160

7160.5

7161

ru
n

run:cyclenum {run == 7159}



8188 8188.5 8189 8189.5 8190
cyclenum

32141.5

32142

32142.5

32143

32143.5

us
l_

co
il1

usl_coil1:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

6500

6500.5

6501

6501.5

6502

us
l_

co
il3

usl_coil3:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

4210

4210.2

4210.4

4210.6

4210.8

4211

4211.2

4211.4

4211.6

4211.8

4212

4212.2

us
l_

co
il4

usl_coil4:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

661−

660.5−

660−

659.5−

659−us
l_

co
il6

usl_coil6:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

15034.5

15035

15035.5

15036

15036.5

us
l_

co
il7

usl_coil7:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

7157

7157.5

7158

7158.5

7159

7159.5

7160

7160.5

7161

ru
n

run:cyclenum {run == 7159}



8188 8188.5 8189 8189.5 8190
cyclenum

28263−

28262.5−

28262−

28261.5−

28261−us
r_

co
il1

usr_coil1:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

5539−

5538.5−

5538−

5537.5−

5537−

us
r_

co
il3

usr_coil3:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

3333

3333.5

3334

3334.5

3335

us
r_

co
il4

usr_coil4:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

430−

429.5−

429−

428.5−

428−us
r_

co
il6

usr_coil6:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

19213

19213.2

19213.4

19213.6

19213.8

19214

19214.2

19214.4

19214.6

19214.8

19215

19215.2

us
r_

co
il7

usr_coil7:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

7157

7157.5

7158

7158.5

7159

7159.5

7160

7160.5

7161

ru
n

run:cyclenum {run == 7159}



8188 8188.5 8189 8189.5 8190
cyclenum

435−

434.5−

434−

433.5−

433−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

72.4−

72.2−

72−

71.8−

71.6−

71.4−

71.2−

71−

70.8−

70.6−

70.4−

70.2−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

31.5

32

32.5

33

33.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

484.5−

484−

483.5−

483−

482.5−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

94−

93.5−

93−

92.5−

92−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

30

30.5

31

31.5

32

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7159}



8188 8188.5 8189 8189.5 8190
cyclenum

168.6

168.8

169

169.2

169.4

169.6

169.8

170

170.2

170.4

170.6

170.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

49.5

50

50.5

51

51.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

11.8−

11.6−

11.4−

11.2−

11−

10.8−

10.6−

10.4−

10.2−

10−

9.8−

9.6−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

179

179.5

180

180.5

181

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

16−

15.5−

15−

14.5−

14−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

10.8−

10.6−

10.4−

10.2−

10−

9.8−

9.6−

9.4−

9.2−

9−

8.8−

8.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7159}



8188 8188.5 8189 8189.5 8190
cyclenum

239−

238.5−

238−

237.5−

237−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

86−

85.5−

85−

84.5−

84−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

1−

0.5−

0

0.5

1

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

8.5

9

9.5

10

10.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

466.5−

466−

465.5−

465−

464.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7159}

8188 8188.5 8189 8189.5 8190
cyclenum

7157

7157.5

7158

7158.5

7159

7159.5

7160

7160.5

7161

ru
n

run:cyclenum {run == 7159}
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